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1. One third of a number is four times seven. 
What is half of that number ? 

1. t I i 	n.  TT 7T ffigt 	Ttwr 7 wr 4 119T 

Tt3E11. 	r 37VIT SIT 61.41I ? 

(1) 28 	(2) 42 (1) 28 	(2) 42 

(3) 21 	(4) 84 (3) 21 	(4) 84 

2. Vijay was X years old 4 years ago. How old 
will he be 6 years from now ? 

2.  qr-4-  Ti 	f474 	3Trq X zft I 3-77 4 644 

crma: 3-7Q-  39f 	6141? 

(1) x+2 	(2) x+4 (1) x+2 	(2) x+4 

(3) x+6 	(4) x+10 (3) x+6 	(4) x+10 

3.  How many 7s are there in the following num- 3. `7' 	g 41' Trt 	qur-o-r 	1*-64 
ber series which are not preceded by a prime 
number and are followed by an even number. 

Trxr ITO coli 14 444 TtWr 	t 3fiT rft4 

*isqi 4 1 

2617236478139781792678 
	

2617236478139781792678 

(1) 4 (2) 1 (1) 4 (2) 	1 

(3) 3  (4) 2 (3) 3  (4) 2 

4. A and B, both were both born in the month of 
October. A was born on• Monday, the 23rd  
October. B is 17 days younger than A. On what 
day was B born ? 

(1) Monday 

(2) Thursday 

(3) Sunday 

(4) Friday 

5. When time by the watch is 20 minutes past 7, 
angle between hand of the watch. is : 

(1) 100° 
	

(2) 90°  

(3) 80° 
	

(4) 95°  

4. A 3-T1T 	 3rliFT Tfet4 4 4-4-r 471 A Tr 

	

7-4i.  23 amt, 	 f147 pIT I B .3ii4 17 

	tI B 	7-4r 14)ki 1'473Tr ? 

6. The length of a rectangle is 12 cm and its 	6. crT• 3Trzrff 	9-Rlit 12 140*0  	kwui 
diagonal is 15 cm. The area of rectangle is : 	 15 4-0*. i .t-f 3trzr7 	: 

(1) 180 Sq. cm. 	(2) 96 Sq. cm. 	 (1) 180 404-10 	(2) 96 404ro 

(3) 108 Sq. cm. 	(4) 42 Sq. cm. 	 (3) 108 40*. 	(4) 42 40410 
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Directions : In question number 7-12, 	rq-kU : If4R.  1,icfr 7 12 Till'aT7:1 	7F47 
select the alternative that is different from the other 	3raT cn-i 	t 
three. 

7. (1) Monitor 	 (2) Keyboard 
	

7. (1) 414.1ti 
	

(2) -4--tai 

(3) mouse 
	

(4) Joystick 
	

(3) ,-11,3,t4 
	

(4) *4:1" ReT 

8. (1) Ginger 
	

(2) Onion 
	

8. (1) arTfw 
	

(2) 1.441.T, 

(2) Beat-nut 
	

(4) Corriander 
	

(3)  
	

(4) ufq-zt-r 

9. (1) 120 	 (2) 168 
	

9. (1) 120 	(2) 168 

(3) 290 	 (4) 360 
	

(3) 290 	(4) 360 

10. 	(1) 2, 6, 12, 20, 30 
	

(2) 3,7,13,21,31 
	

10. 	(1) 2,6,12,20,30 
	

(2) 3,7,13,21,31 

(3) 4,8,14,12,32 
	

(4) 5,9,15,27,37 
	

(3) 4, 8, 14, 12, 32 
	

(4) 5, 9, 15, 27, 37 

11. (1) PTWZ 
	

(2) AEFIJK 
	

11. (1) PTWZ 
	

(2) AEI-IJK 

(3) GKNPQ 
	

(4) KNQST 
	

(3) GKNPQ 
	

(4) KNQST 

12. (1) Damp 	Wet 	 12. (1) arra 	Tftm 

(2) Tepid 	1-lot 	 (2) ,v-Lot : 	Tni 

(3) Hot 	Sizzling 	 (3) uurr 	q)scr)§101 

(4) Wide 	Broad 	 (4) T.4 	51 	 PaFF 

Directions : In question 13 to 17 find the 	: 	#- EIT 13 4 17 Tielit 41-4AFT 
missing term of the series. 	 cro111 er-ci TOTTT t 79.  

13. 	1,2,6,15,31, ? 
	

13. 	1,2,6,15,31, ? 

(1) 47 
	

(2) 52 
	

(1) 47 	(2) 52 

(3) 55 
	

(4) 56 
	

(3) 55 	(4) 56 

14. 11, 23, 48,99, 202, ? 	 14. 11,23,48,99,202, ? 

(1) 409 	(2) 408 

(3) 407 	(4) 406 

15. 1, 3, 3, 6, 7, 9, ? 12,21 

(1) 10 	(2) 11 

(3) 12 	(4) 13 

16. 5,11,25,55,117,243,? 

(1) 511 	(2) 499 

(3) 498 	(4) 497 

17. 49, 121, 169, 289,? 529 

(1) 324 	(2) 361 

(3) 256 	(4) 729  

(1) 409 	(2) 408 

(3) 407 	(4) 406 

15. 1,3,3, 6, 7, 9, ? 12,21 

(1) 10 	(2) 11 

(3) 12 	(4) 13 

16. 5,11,25,55,117,243,? 

(1) 511 	(2) 499 

(3) 498 	(4) 497 

17. 49, 121, 169, 289, ? 529 

(1) 324 	(2) 361 

(3) 256 	(4) 729 
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18. DUK, ESI, FQG, GOE, ? 
	

18. DUK, ESI, FQG, GOE, ? 

(1) HCM 
	

(2) HLB 
	

(1) 11CM 
	

(2) HLB 

(3) IMC 
	

(4) ILB 
	

(3) IMC 
	

(4) ILB 

19. A 2 E,C 5 H,E 12 K,G 27N,? 

(1) J 58 R 	(2) I 58 Q 

(3) I 77 R 	(4) J 77 Q 

20. sgj, rhi, qih, pjg, ? 

(1) tkf 	(2) nlg 

(3) okf 	(4) olg 

21. The code language INDIAN MISSILE is 
written as 472417 6488453. How would you 
write 'ALL MEN SMILE' ? 

19. 12F.C511.1:12K,G27N,? 

(1) J 58 R 
	

(2) 1 58 Q 

(3) I 77 R 
	

(4) J 77 Q 

20. sgj, rhi, qih, pjg, ? 

(1) tkf 
	

(2) nlg 

(3) okf 
	

(4) olg 

21. +4 	'INDIAN MISSILE' 	 1-Trzfr 

4724176488453 fffi3Tft g al • 'ALL MEN 

SMILE' 	 ,1)-1 	'4)* Nurli ? 

(1) 422 634 86124 (2) 155 637 86124 

(3) 155 634 86456 (4) .155 637 86453 

22. If in a certain code SIKKIM is written as 
THLJJL how is TRAINING written in that 
Code . 

(1) 422 634 86124 
	

(2) 155 637 86124 

(3) 155 634 86456 
	

(4) 155 637 86453 

22. ql".  Wt wig 4 'SIKKIM' t `TUILJJL' 
341 pis if 'TRAINING'  wi•  NUIT 

	Trr 

(1) SQBHOHOH 
	

(2) UQBHOHOF 
	

(1) SQBHOHOH 
	

(2) UQBHOHOF 

(3) UQBJOHHO 
	

(4) UQBIOHOH 
	

(3) UQBJ011110 
	

(4) UQBIOHOH 

23. If the hour hand of a clock is turned 
anticlockwise from 2 pm to 9 am, how many 
degrees will it move to reach there? 

23. Elf4 Nift 141 Fk   kur 
2 4 711----4-  9 17; eimi 	ci6 	dc1) 
10-41 ? 

(1) 150°  (2) 270°  

(3) 240° (4) 120° 

(1) 150° 
	

(2) 270° 

(3) 240° 
	

(4) 120° 

24. Anil thinks of a number. He squares it, then 
takes away 5, next multiplies it by 4, takes away 
7, divides it by 3 and finally adds 6. His 
answer is 9. What number did he start with? 

(1) 4 	 (2) 5 

(3) 3 	 (4) 6 

25. Rajiv is double the age of Ravi and one third 
as old as Pankaj who will be 48 years old in 6 
years. How old is Ravi ? 

24. 3-11W'ff 	qct) 44- TEIT 	3tict4 
5 %Iti f 	iii I f4)t 	4 	,t).t4, 7 Eris 

Pt-zrri TiT 	3 4 3Tfff ch4 4) 349. 	6 wrr 
	 art 9 3TT7T i 3tia NTT 14-411" if 

? 

(1) 4 	 (2) 5 

(3) 3 	 (4) 6 

25. 39 tfd 	 t *4- T4T7 

gi 	6 Ti 	wig 48 	Tr 	I 
t 	41ciri 	? 

(1) 7 years 

(3) 16 years 

(2) 14 years 

(4) 28 years 

(1) 7 T$i 

(3) 16 4 



(1 ) 77  

(3) Te6ff 

(2) Jii,(q 

(4) 34-fqftEf 

(1) 25% 

(3) 15% 

• 

(2) 20% 

(4) 163% 

(2) 20% 

(4) 163% 

(2) South 

(4) West 

(2) -ft-P3-r 

(4) Mfr 

(1) North 

(3) East 

f444T : Cfq9' 4UETT 31 4 33 4  	rtilki •  

eg-ci err 	T-114 46*71 

Directions : In questions 31-33, identify the 
trend in the given arrangements and select the 
missing number. 

31. 31. 

6 

26. A meaningful word starting with A is made 
from first, second, forth, fifth and si :th letter 
of the word CONTRACT Which of ful lowing 
is middle letter of word ? 

(1) C 	(2) 0 

(3) R 	(4) T 

27. If (a) 3+5=16; 	(b) 7+9=64; 

(c) 10+12=121; 	then, 11+3=?; 

(1) 56 (2) 48 

(3) 49 (4) 196 

28. Five boys took part in a race. Raj finished 
before Mohit but behind Gauray. Ashish fin-
ished before Sanchit but behind Mohit. Who 
won the race ? 

(1) Raj 	(2) Gaurav 

(3) Mohit 	(4) Ashish 

29. The sale price of 8 articles is same as cost 
price of 6 articles. The gain/loss percent is : 

26. CONTRACT A 31.497.  374-1:1T 5r A2I4, 

WRI., 	 Tar wa AR 4 7w 4rtiT 
	 ITzfr f)4.-i 	0.1 4r 3-TgiT 

4U1 	g ? 

(i) C 	(2) 0 

(3) R 	(4) T 

27. 4 	 (a) 3+5=16; 	(b) 7+9=64; 

(c) 10+12=121; 	t 11+3=?; 

(1).56 	(2) 48 

(3) 49 	(4) 196 

28. tri-q.  wrrif 4 7T 4 	5 4 1-Trrr NI:1-r 717 *PO 4 
9-64 allVT 14.01 4a.“1 	(414 3444 I 3TRfilzt 141-Va-  4 
9-0 31-rzrr 4Nrq WO" 	tfti ,(61 I c1 	 '4-4 4 
41cil ? 

29. 8 7-4Tri TT f'qwEr tc,q 6 u+,-131-i 	m-zr 4-1,e-ti 
t 	 m1-116A crNM : 

30. A clock is do placed at 12 Noon it's minute 
hand push towards Solith-West. In which di-
rection does it's hour hand point at 1-30 p.m. ? 

30. 	12qi7wilt -i- Tfr3rwR-,(wTrzrri=  
kur t I 1-30 

-11:f-F 	c,r)el 	f4)+1 forr 	61j1 ? 

(1) 60 

(3) 30 

(2) 

(4) 

20 

40 

32. 

84 72 48 

14 18 18 12 2 6 

(1) 27 (2) 21 

(3) 	16 (4) 24 

(1) 60 	 (2) 20 

(3) 30 	 (4) 40 

32. 

84 72 48 

14 18 18 12 9 6 

(1) 27 (2) 	21 

(3) 	16 	 (4) 	24 
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33. 	 33. 

5 

(I) 115 	(2) 130 

(3) 135 	(4) 110 

34. If cow is called grass, grass is called milk, milk 
is called biscuit, biscuit is called bread, bread 
is called butter and butter is called coffee, what 
would the baby drink ? 

(1) 115 (2) 130 

(3) 135 (4) 110 

34. 	Trgr 	viu c.116c g, 'EMT T1 	cr)6 
 06 	 g, N 	,as 	 g, 

31 	c461g 311T 	1Trht c06( 
 

vr I 
cttil f47rr ? 

(1) milk 

(3) biscuit 

(2) coffee 

(4) butter 

(2) c14-4 

(4) ,-vv ..q.-1 

35. In a class of 50 students, 20% have opted for 
dance, 20% for art and craft, 10% for garden-
ing and 10% for music. The rest have offered 
sports. How many students have opted for 
sports ? 

(1) 25 (2) 30 

(3) 15 (4) 20 

Directions : In questions 36 to 40, select the 
alternative that has the same relationship to the third 
word/group of letters as the given pair. 

36. Circle : radius :: Square : ? 

(1) Area 	(2) Side 

(3) Diagonal 	(4) Perimeter 

37. Anaemia : blood :: Goitre : ? 

(1) Pancreas 	(2) Spleen 

(3) Thyroid 	(4) Thymus 

38. Spinach : leaves :: Potato : ? 

(1) Stem 
	

(2) Root 

(3) Fruit 
	

(4) Bud 

39. Oasis : Sand :: Island : ? 

(1) River 	(2) Water 

(3) Sea 	(4) Waves  

35. crT wr 4 50 kErP-ff I 	 20% 4 
tiqH 	 t, 20% 	coma ter, 10% 4 (41,1s1141 qir 
30 10% 4 	r lqr-t9-  flts1,1 	miqrf 
471-  1 	fi i=orrRigl 4-co r T-1tfrl 
fir t? 

(1) 25  (2) 30 

(3) 15 (4) 20 

f'#,Z1 : Cfg9" *-H.C241 36 4 40 4 	 7h-q- 
u -/3T4-1--{-47 	 g 

,Tzrr 

36. 1.-ct Nwr 	: ? 

(1) 4 -1-th - 	(2) `'fir 

(3) NwErt 	(4) *FR 

37. l-it 	: 	J11C1t4, : ? 

(1) 317-H-r2rg C-6.43T-g) 	(2) 0t6r (v441-1) 

(3) 31-1-q 	(7-47) 	(4) 4-147TTI 

38. Err7T : th-zri 	31-rq : ? 

(1 ) 79-T 	(2) As 

(3) Eb-- 	(4) ,t)(4) 

39. : 	X14 : ? 

(1)  	(2) Err* 

(3) w 	(4) Q-16 
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40. JKLM : ljmk TUVW : ? 
	

40. JKLM : ljmk TUVW : ? 

(1) utwr 
	

(2) vutw 
	

(1) utwr 
	

(2) vutw 

(3) vtwu 
	

(4) vtuw 
	

(3) vtwu 
	

(4) vtuw 

41. If A = 3, B = 5, C = 10, D = 30, E = 60, what 
is the answer to the following equation writ-
ten as a letter ? 

E±CxB= (?) 

(1) A 	(2) D 

(3) B 	(4) E 

42. In the given figure a triangle represents 
armyman, Square represents strong and circle 
represents tall 

41. A = 3, B = 5, C = 10, D = 30, E = 60, 
99" 	4-11,m 	.1 	 Trf 

err N44 ? 

E=C x B = (?) 

(1) A 	(2) D 

(3) B 	 (4) E 

42. 1)1-1 317% 4 1'97 	 1:71-ff 
mu 7 04,$) %L 	fit 	q41f—dt 

Indicate the number that represents strong 
army man 

TiWr • ► 	• Tr7sa• ta4t mti4Ft 
qqif g 

(I) 7  (2) 4 (I) 7  (2) 4 

(3) 2 (4) 6 (3) 2 (4) 6 

43. In the following figure rectangle represents 
artist, the circle represents players and tri-
angle represents doctors 

43. 1*ff au-T-N 	arm 4)01,0H 	p-  	(1►41 
N1-17  	gprim t 

How many doctors are neither players nor   g err 9-  tt 
artists ? 	 crom)H 	? 

(1) 30 (2) 3 (1) 30 (2) 3 

(3) 27 (4) 4 (3) 27 (4) 4 
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Directions : In question numbers 44-47, select 	 : 	it- EIT 44-47 4 41.  Trt itwrall 
one number in the series which is wrong. 	 qtr 4 	err 	741 

44. 2, 5, 15, 18, 54, 56, 171 	 44. 2, 5, 15, 18, 54, 56, 171 

(1) 15 
	

(2) 56 
	

(1) 15 
	

(2) 56 

(3) 18 
	

(4) 171 
	

(3) 18 
	

(4) 171 

45. 8, 27, 125, 341, 1331, 2197 	 45. 8, 27, 125, 341, 1331, 2197 

(1) 1331 
	

(2) 341 
	

(1) 1331 
	

(2) 341 

(3) 8 
	

(4) 125 
	

(3) 8 
	

(4) 125 

46. 52, 51, 48, 43, 36, 27, 14 	 46. 52, 51, 48, 43, 36, 27, 14 

(1) 51 	(2) 14 
	

(1) 51 	(2) 14 

(3) 36 	(4) 43 
	

(3) 36 	(4) 43 

47. 6, 13, 18, 25, 30, 39, 42 	 47. 6, 13, 18, 25, 30, 39, 42 

(1) 25 	(2) 30 

(3) 39 	(4) 42 

48. An aeroplane flying in the east direction turns 
right by 225 degrees. After a while it again 
turns right by 90 degrees. In which direction 
is the aeroplane flying now ? 

(1) 25 	(2) 30 

(3) 39 	(4) 42 

48. crw 6qii s3-16:11 	 IT UT I 4-6 qrt 
ath-  225° ITT IrT TRU Eflt .1" 	"Tg 14t 
3T1T 90° 113' 11711 3T-4 •q" 6qii '61'I 14)ti kgTT 
113; 7-6f ? 

(1) East 	 (2) North 

(3) North East 	(4) North West 

(1) 74  

(3) 	  dtlt- 

(2) 397 

(4) art 	-tif4Ti 

49. Aman took his friends to a restaurant for a 
party. He spent one fourth of the money he 
had on the pizzas, one fourth on the burgers 
and another one fourth on the cold drinks. 
At the end of the party, he was left with 
200 rupees. How much money did he initially 
have ? 

(1) 400 rupees 	(2) 800 rupees 

(3) 750 rupees 	(4) 600 rupees 

50. Between 2 0' clock to 10 0' clock how 
many times the hands of a clock are at right 
angles ? 

(1) 14 (2) 12 

{3) 16 (4) 15 

49. 317q 3TEr4 41•41 	tira 	RiTT 4 TR1T 
dii.1 317* cpci Tar T 	1171 	 Witrli 
1/4 11-Fr wiT vft-q4 4 	'Pm 
ufftqi qsuti   tnif at siti4) 
trTiT 200 i,k4g WI 771 dii4) ART 7 4 ftai 
,to-iq z1 

(1) 400 rupees 	(2) 800 rupees 

(3) 750 rupees 	(4) 600 rupees 

50. 2 qi 	10 4-4 	Trft   f*--4=1-  vr-4-  
tmER- 	61cir1  

(1) 14 	(2) 12 

(3) 16 	(4) 15 



Petal 

House 

: Limb 

Page 

Sight 

Entertainment 

55. Flower 

(1) Street 

(2) Body 

(3) Book 

(4) Eye 

56. MOVIE 

(2) 31 

(4) 33 

52. 4 + 6 - 3 x 5 

(1) 17 
	

(2) 13 

(3) 15 
	

(4) 18 

53. 5 + 6 x 8 - 2 ± 3 

(1) 17 

(3) 24 

55.  

56.  Entertainment 

FP-T 

mf4c,f)i-if 

teet 

10 

51. A man walks 2 km. towards East and then 
he turns to South and walks 6 km. Again he 
turns to East and walks I km., After then he 
turns to N - -th and walks 10 km. Now how 
far is he from his starting point ? 

(1) 3 km 	 (2) 

(3) 5 km 	 (4) 7 km 

Directions : For question numbers 52-54, if + 
means x, - means -, x means + and - means -, 
then select the correct answers for these questions. 

52. 4 + 6 - 3 x 5 

(1) 17 (2) 13 

(3) 15 (4) 18 

53. 5 + 6 x 8 - 2 ± 3 

(1) 17 (2) 31 

(3) 24 (4) 33 

54. 0.6 + 0.15 - 0.3 - 0.2 

(1) 0.01 (2) 0.1 

(3) 0.02 (4) 1 

Directions : In questions 55-56, select the 
alternative pair of words that has the same 
relationship between them as the given pair of words. 

(1) Business : 	Profit 

(2) Glue 	: Stick 

(3) Smoke : Coal 

(4) Song 	: Music 

51.  	kqrf 74 2 	MI4-1'lzz urrar g 
et-TuT fklT i1117-7- 6 4eal-ild =.4e.r g 
c&-d-  ki-r iTra-r g Tar 1 4(1141d 	 tirld 	I gi 

TM-W(1 	are forr i -7419-r g Tar 10 	' 
T-4011 g 	T 	ATTA-T f 	i f'cbcfril 	gi 

(1) 3 	who 	(2) 4 fW0 who 

(3) 5 ¶ o who 	(4) 7 1*0 who 

ft441.  : 54-.  +iosql 52-54 	 `+' wr 
3.1-21 t 	 apt 	̀+'3.0 •±' 

WI Ref * 	1+-1 	 f4T-o:r ti-r) I 

54. 0.6 + 0.15 - 0.3 - 0.2 

	

(1) 0.01 	(2) 0.1 

	

(3) 0.02 	(4) 1 

1"q-44T : ro.q err 55-56 4, 
74cr 14-4 41,1 wr Tt-4v 	Trq 

17.14t1 	*1 4-11-1 t 1 
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Directions : In questions 57-58, five words 
are given in each represented by a letter. Choose 
their correct order/sequence from the given 
alternatives. 

57. (A) District 

(B) Village 

(C) State 

(D) Town 

(E) Country 

(1) BADCE 

(2) BCDAE 

(3) BDACE 

(4) CBADE  

	

f44T : IrqR.  TTUiTT 57 a 	58 	tri-  qui Eri- 
3TfiTTATT to,“1- g1 	r  trt- 2t i 	,16 5t>=-1 

ro 	 -4 4 141 

(1) BADCE 

(2) BCDAE 

(3) BDACE 

(4) CBADE 

58. A—Irrigation, B—Threshing, C—Sowing, 	58. A--5:mit, 	 D 	,pot 
D—Harvesting, E—Weeding traw-4-  

(1) ACDEB 
	

(2) CAEDB 
	

(1) ACDEB 
	

(2) CAEDB 

(3) ACBDE 
	

(4) CEADB 
	

(3) ACBDE 
	

(4) CEADB 

59. In a certain code language '324' means Light 
is bright '629' means 'Girl is beautiful and 
`4758' means 'I prefer bright clothes' which 
digit means light' in that language. 

(I) 3 (2) 2 

(3) 4 (4) 7 

59. itt rrtrr 4 324 TT 34 t Light is bright Tur 
`629' w• 314 t `Girl is beautiful' aur '4758'w 

t 'I prefer bright clothes' al 34T 'Pm light 
WIT 1TTTT ,31111 *1 

(I) 3 	 (2) 2 

(3) 4 • 	 (4) 7 

60. A wall clock takes 10 seconds to strike 6. 	60. q tiN ThL.t. 	6 viT chi! I ITT 10 sacs 	(-141C: 
How much time will it take to strike 12 ? 	 giv-d-qq. 12 -arTv-44 trT ft-d-4r i44-144 M+1411 ? 

(1) 20 seconds 
	

(2) 19 seconds 	 (1) 20 
	

(2) 19 i4t- 

(3) 18 seconds 
	

(4) 22 22 seconds 	 (3) 18 At-- 
	

(4) 22 4tit 

61. Pointing to Kapil, Shilpa said "His mother's 
brother is the father of my son Ashish". How 
is Kapil related to Shilpa ? 

(1) Sister-in-law 	(2) Nephew 

(3) Niece 	 (4) Aunt 

61. 	 JS,a V, D104-11 A-  (4,61 
1-Trt 41). ,aa 3M11TT TT frffr "1 

D1.c,-11 	ctql i=tp-r g ? 

(1)  	(2) `4]-ftr 

(3) 	 (4) tir,11, 13ft 7r 

cc37(4,- TT; 

iarT .t771" 
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Directions : Select missing arithmetic 
operations in question numbers 62-65. 

P#41.  : vqq Our 62-65 	 +-I Ti-471-r311 

T v447 	 

4_4_8_4 = 20 

(1) 	x, 	+, 	— (2) 

(3) 	—, 	+, 	x (4) 

5 _ 3 _ 8 _ 3 = 20 

(1) 	x 	+, — (2) 

(3) 	x, + (4) 

32 _ 8 _ 5 _ 6_ 2 _2 = 122 

(1) 	x, 	x, 	+ (2) 

(3) +, 	x, — (4) 

62. 4 _ 4 _ 8 _ 4 = 20 
	

62. 

(1) x +, — 	 (2) x, +, x 

(3) —, 	x 	 (4) +, x, + 

63. 5 _ 3_8 _3 = 20 
	

63. 

(1) x, +, — 	 (2) +, x, — 

(3) 	x, + 	 (4) x, 	+ 

64. 328_5_6_2 = 122 
	

64. 

(1) —, x, x, + 	(2) +, +, x, + 

(3) +, 	x, — 	(4) +, 	+, x 

65. 30_3_10_30 = 70 

(1) —, x, — 	 (2) x, ÷, + 

(3) +, x 	 (4) +, +, x 

66. A, B and C are the angles of an isosceles 
triangle. Angle A measures 70°. Angle B is 
greater than 60°. What is the size of Angle C ? 

65. 30_3 10_30 = 70 

(1) 	x, — 	 (2) x, +, + 

(3) +, x, 	 (4) +, +, x 

66. A, B 3-DI7 C ticTrffit-wq N1-7 
g I ct;iui A 70° ftffi 	t I m;1.1 B 60° 4 al-kw 
t I (1,1.1 C 1r f 	r t? 

(1) 70° (2) 60° 

(3) 55° (4) 40° 

67. 	afiff 4.1s31, 4111, 	 
	 g 14idi 

,(1,13.117"  	4ur 	t 
344-  t Tr7 7Teo 4r 

(1) 70° 
	

(2) 60° 

(3) 55° 
	

(4) 40° 

67. Six persons Raj, Geeta, Ravi, Bani, Sonu and 
Mohit are standing in a circle. Geeta is 
between Mohit and Ravi, Raj is between Sonu 
and Bani, Mohit is to the left of Bani. Who 
is between Raj and Mohit ? 

t ql4ita. 	 
Th= -mg t 

*Po ,g14.1 
? 

(1) Sonu 

(3) Bani 

(2) Ravi 

(4) Geeta 

68. Two buses start from opposit points on a main 
road 120 km. apart. The first bus A runs for 30 
km. and takes a right turn and then runs for 10 
kms. It then turns left and run for another 30 
km. and takes the direction back to reach the 
main road. In the mean time due to minor 
breakdown the other bus B has run only 40 
kms. along the main road. What would be 
distance between two buses at this point ? 

68. 	TT TO 	14tiftff kqrr .4 120 i4)cri 	 
Mail Tr;T 	k4-1.(1 	mieicrt) t I FRPT a r A 30 
4)(14-1 	-tiocn.e qii 3117 vth Tur 10 	4-1 	ti 
	 t 14)( ‘,4141 311T T3TT 30 	el +-I 	-4(rld 

TTZT ki.,ct) 	3.1-1-47 711.11 	fit 	'i141 t I 
VRct qu B 	 cr)14.1 40 	ei 	 
117T tIT 41tit 	 gi 	3Tql:1711T q1-11 ,s1.41 if 
4c1-1-1 Tct g ? 

(1) 10 km 
	

(2) 30 km 
	

(1) 10 km 
	

(2) 30 km 

(3) 20 
	

(4) 40 km 
	

(3) 20 km 
	

(4) 40 km 



(2) 

(4) 

12 : 56 pm 

01 :30 pm 

(1) 

(3) 

12 

01 

(1) 12 : 40 pm 

(3) 01 : 10 pm 

: 40 pm 	(2) 12 : 56 pm 

: 10 pm 	(4) 01 :30 pm 
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69. Which of the following  set is best represented 
in the diagram ? 

69. 	1i 	L1.-1-Trr 	311r-To-  ,5141 	2ii n ,11(11 

? 

(1) Animals, Insects, Cockroach 

(2) Country, State, District 

(3) Animals, Males, Females 

(4) State, District, Union Territory 

70. Amritsar Shatabdi starts at 7: 40 am from 
Delhi for Amritsar which is at a distance of 
approximately 450 kms. If it moves at a 
uniform speed of 90 km per hour and takes 
30 minutes for around 7-8 stops in between, 
at what time it would reach Amritsar ? 

(1) vii 14t, 	c.nic.n,( 

(2) 42t, 	 

(3) Itirickk, vist, 	TCT 

(4) 41,sq-1, irr, 	 2TTF417 

70. 3-7-7144: r91 k-4t wrq: 7 : 40 ITJ: 3.717ifT $ • 

frig tg 1 ,1I 61(11 * 71- -ttq 450 f*oito 

90 i -o-ch-o/Er L-Ltti 	Jif-d 4 -Liocii g 

3t1Ti.k;.144 7-8 s.TH16 TR- t>cr.,.) 	f49- 30 ftr-q--  

? 

71. One morning  after sunrise, Reeta and Kavita 
were talking  to each other face to face at 
India Gate. If Kavita's shadow was exactly 
to the right of Reeta which direction Kavita 
was facing  ? 

(I) West 	(2) South 

(3) East 	(4) North 

72. Find the number of straight lines in the 
following  figure ? 

71. qtrIqzr 	E2-L4id lict) 	 M.1T 

qq ti=4-zrr ;it ER ,aid-Liki 

%ft' afar 	ERurt 	 '* jict, qii 

eq-d-r 	N-41-  kur 	g ? 

(1) ti-DvPr 	(2) q4Pit 

(3) te 	(4) dcH 

72. ri f 	-urrq gi 

(1) 

(3) 

11 

16 

(2) 

(4) 

14 

15 

(1) 

(3) 

11 

16 

(2) 

(4) 

14. 

15 



ft4u : 	 41-  Tri 	wra- 	tr-11 3.11-4-  

A4 cur 73-75 k 	3ffl" 

	

3'T1 	II WI" +cif 	trpk 	 71718 AI 	 g 

a-6 3rcr4 Qt" t itc46 8 Ni 	t A-  50 N'o 

Ti to/ 	+I411.1 TA 4vv.! 	cp 	i g I 	: 

8.30 Eff 4g mike trwi t 	411 	 

zaft-<-4 4 15 	 c141111 t I IfTff: 9 qi q'g 7171418 

cr-dvar 	3r 	flu 	RM.  30 fA.c f 	1c1Icn4 

TR-.4 viRRT T T Alc11 ill f4)•( 	76-4 	.Atvi 	

coic; qt 	Ard: 10 : 15 cF zrf   t I 

	

73. 9 4 WA-  +1 	i Qiq 

(1) 2 izk 15 	 

(2) 1 	r30 fu.i 30 	 

(3) 2 Eti 

(4) 1 	15 fAtiz 

74. 9 ER RrWe 

(1) 15 i= c, Tfto 

(3) 25 fo 4-to 

75. 1,1 171*U 

(1) 37.5 No Rto 

(3) 40 f o A-0 

Na't 	? 

(2) 20 1*0 Tfto 

(4) 30 1= 0 

ft--ffit 	? 

(2) 35 Flo Th'o 

(4) 30.5 

76. 7w Ir'q 4 Tr* Tr* IP-  r 4-11-  tl .7( 
64 plc +14-11-i 3rt4-{ 	zni 4 cpidi 1PTT 

	

thq kid6I TR-  ? 	f 	f4T--4ff ? 

(1) 4 	(2) 8 

(3) 12 	(4) 16 

77. P + Q 'Tr 3TO 	P, Q 	.trfW 

P=Q 	3r4 g P, Q 	q46-t 

PxQ4 3rzf 	P, Q r4-er 

q-d-rp• 	 41.1 P, Q qRFS/ 	qqrf-d-r t I 
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Directions : Read the information given below 
and select correct answers for question numbers 
73-75. 

Raghu goes to the airport to receive his 
friend. He starts from his house at 8 0' clock 
in the morning and drives at a uniform speed 
of 50 km/hour. At 8:30 am, he reaches the 
market and stops there for 15 minutes to by 
flowers for his friend. He reaches airport at 
9:00 am and spends half an hour to receive 
his friend and come back to his car. Again he 
starts for his home at the same speed and 
reaches there at 10:15 am. 

73. For how long did Raghu drive his car? 

(1) 2 hours and 15 minutes 

(2) 1 hour and 30 minutes 

(3) 2 hours 

(4) 1 hour 15 minutes 

74. How far is the market from Raghu's house? 

(1) 15 km 
	

(2) 20 kin 

(3) 25 km 
	

(4) 30 km 

75. At what distance is the airport from Raghu's 
house? 

(1) 37.5 km 	(2) 35 km 

(3) 40 km 	(4) 30.5 km. 

76. A cube is coloured green on all its faces. It is 
cut into 64 small cubes of equal size. How many 
cubes would you get coloured on three sides? 

(1) 4 	(2) 8 

(3) 12 	(4) 16 

77. P Q means, P is husband of Q 

P Q means, P is sister of Q 

P x Q means, P is son of Q 

Which of the following show P is the daughter of Q. 

(1) R x Q p 
	

(2) Q+RxP 
	

(1) RxQ±P 
	

(2) Q+Rxp 

(3) S x Q+R = P 
	

(4) P+SxQ 
	

(3) S x Q+R 
	

(4) P+SxQ 

78. The supplement of an angle is 39° more than 
twice its complement the measure of angle is: 

(1) 39° 	(2) 41° 

(3) 49° 	(4) 47°  

	

78. crw   4-; 
	 4 39° A' t I Qui 	Trrzr 

(1) 39° 	(2) 41° 

(3) 49° 	(4) 47° 
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Directions : In questions 79-80, on the basis of the relationship seen in the first two figures, choose the 
options that fits the space left marked with "?'. 

: vfq 	79-80 Er-66- 	TN-5g 	3TMITT ER.  37:r kw-e:r 	1-1 	?4--qTr 	Tr4 Pa-F 

4-d-dT gi 

79. • 

 

      

1) 
	

2) 
	

3) 
	

4) 

80. 

1) 
	

2) 
	

3) 
	

4) 



2) 3) 

V 
0000 

A 

♦ ♦ 

A ♦ A 

I) 3) 

1) 2) 3) 

82.  

83.  

16 

Directions : In questions 81-88, identify the answer figure that completes the series in the problem figure. 

Nqi : 	i-i4v-u 81-884 TrITTErr fix 4Rb--d6-  giot 	1:1-6W91 

81. 



1) 2) 3) 4) 

9 

1) 2) 3) 

I) 2) 3) 

T 

Hi 



3) 

18 

88. 
I 

I 

/ 	

1, 

 

I 
L 

H t.---- .1 

."...‘ 	.N. 	.• ! 	. / 
\ 	! 

	

1 	1 	 I i 

	

I 	I 
1 	1  

i...._  
....) 	 3) 	- 4) 

• Directions : For question numbers 89-90, Choose the correct alternative that fits in to the pattern. 

: WR.  T1-4TZIT 89-90 	rc•N  	d t 	 gm! 11771- rj 

89.  

90.  

1) 
	

3) 	 4) 
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